
STATE COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING

STATE LEVEL NATIONAL TALENT SEARCH EXAMINATION – 2015
Class – X
Part – II

MENTAL ABILITY TEST (MAT) AND LANGUAGE TEST

Time : 90 Minutes Maximum Marks : 100

Roll Number

INSTRUCTIONS TO CANDIDATES :

Read the following instructions before you answer
the questions. Answers are to be given in a
SEPARATE OMR ANSWER SHEET provided
inside this booklet. Break the seal and start
answering the questions once asked to do so.

1. Please write your Roll Number very clearly
(only one digit in one block) as given in your
Admission Card.

2. You have to answer 100 questions in this test.

3. This test has two Parts namely Mental Ability
Test (MAT) and Language Test. You have to
answer 50 MAT questions. In the Language
Test you have to attempt only one language.
That is either Malayalam (51 to 100 questions)
or English (101 to 150 questions).

4. Select the most suitable answer for each
question and completely darken the circle
corresponding to the correct alternative as
shown below.

5. All questions carry ONE MARK each.

6. There is no negative mark. Every correct
answer will be awarded one mark.

7. Do not write your name on any part of the
question booklet or the answer sheet.

8. Rough Work can be done in the space
provided at the end of this booklet.

Correct Method              Wrong Method

   1    2     3     4                  1     2    3    4    1    2     3     4                  1     2    3     4
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)���150����������'
%�5��&�100��������	

�
�������$�&����% MAT�&� 50� �������	

�
�������*�� (ie, Q.No.1-50). ���&�@�+�
������3�&�(����&��8$�3�(Q.No. 51-100
#���$�)�5�AB�&�9�C-+
� (Q. No. 101-150
#���$�)� �
��������$�&����%� (����� �����
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1. ‘UNIVERSITY’����

‘XQLSBOWMXU’���
�����P

��$Q�&� ‘COLLEGE’ �����=
���P
��R�$���	���S

(1) FROOACA (2) FROIBDI

(3) FRIIICI (4) FROAICI

2. VEGETABLE = 23 �� ANIMAL = 39 ��
)$�& ELEPHANT���


(1) 49 (2) 55

(3) 69 (4) 73

3. (��� ,0�����������P
�@�+
$ �& ‘ C H E M I S T R Y ’  ��� 

‘xsvnrhgib’. ��
��������%��B�&
‘bfezuvvo’�������P���� 2��E�
	���0��

(1) YOURFEEL (2) YUVADEEM

(3) YUVAFEEL (4) YOURKEEN

There are 150 questions in all. You have to
answer only 100 questions i.e. 50 questions
from MAT (Q. No. 1 - 50) and 50 questions from
Language Test. For the Language Test you
can choose either Malayalam (Q.No. 51-100)
or English (Q. No. 101-150). For each
question four alternative answers are given
marked as (1), (2), (3), (4). From these, find
the most appropriate answer. The number
denoting this answer is there in the answer
sheet against the question number
concerned. Darken the circle with Blue/Black
Ball Pen only. Record the answers thus in
the OMR answer sheet only. Do not write
anything in the question booklet except your
Roll Number on the cover page and rough
work in the space provided for the purpose.

1. I f ‘UNIVERSITY’ is coded as

‘XQLSBOWMXU’ then ‘COLLEGE’

will be coded as

(1) FROOACA (2) FROIBDI

(3) FRIIICI (4) FROAICI

2. If VEGETABLE = 23 and ANIMAL = 39,

then ELEPHANT is

(1) 49 (2) 55

(3) 69 (4) 73

3. In a certain code language

‘CHEMISTRY’ is written as ‘xsvnrhgib’.

Then what will be the word for the

code ‘bfezuvvo’ ?

(1) YOURFEEL (2) YUVADEEM

(3) YUVAFEEL (4) YOURKEEN
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�	����( : �������� 4����&� 7#��
�����	��� �!*�$��8�#�<��0�$
 �T����'
��%

4. 0, 1, 3, 12, __

(1) 27

(2) 19

(3) 148

(4) 124

5. 55, 120, 57, 80, 62, 48, 64, __ , __

(1) 8, 71

(2) 21, 68

(3) 24, 69

(4) 28, 73

6. 84, 71, 63, 53, __

(1) 44

(2) 45

(3) 43

(4) 46

7. 6, 15, 42, 123, ___

(1) 221

(2) 248

(3) 366

(4) 398

Direction : Find the missing number in the

given series from question number 4 to 7

4. 0, 1, 3, 12, ___

(1) 27

(2) 19

(3) 148

(4) 124

5. 55, 120, 57, 80, 62, 48, 64, __ , __

(1) 8, 71

(2) 21, 68

(3) 24, 69

(4) 28, 73

6. 84, 71, 63, 53, __

(1) 44

(2) 45

(3) 43

(4) 46

7. 6, 15, 42, 123, __

(1) 221

(2) 248

(3) 366

(4) 398
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 A, B, C, D, E �������5U
���<���
(���V�W�&�0X�	���%�5#��&

i) A, B ���#��J��8� J�$��
� ��+��3L�$���0X�	���%

ii) B, C ���#��J��8� J�$��
Y�;.�$���0X�	���%

iii) A, D ���#���� �	�3L�$��
� ��+��3L�$���0X�	���%

iv) B, E ���#���L�,IJ�$��
�0�3�?�	&� $� ��
0X�	���%

v) D, E ���#��� ��+��3L�$��
Y�;.�$���0X�	���%

8. 9:���<��3�&�K?#����2���&
��G��#�+$��0X�	���
�)�
�S

(1) A (2) B

(3) D (4) E

9. K?#�����.#
��G��#�+$
���0X�	�����<��)�
�S
(1) E (2) D

(3) C (4) A

10. ��8
�#�+$�����,���0X�
	�����<��9#��&�)��*
�S

(1) A (2) C

(3) D (4) E

11. ‘CONTRIBUTION’ ��� #�	��8
(����
$����2����
$���5Z�
��� 0� [��� ��?�%� 5���0��8
�'���
������8���
���/�5U�
��
�����K����
����5Z���
0� [�����?���%�5����������&
����������
���	��#$�&�K�

5Z���$���	��� 9���� #�
�
����� 7\�����#����S
(1) U (2) R

(3) I (4) B

Five students A, B, C, D and E are studying

in a class, of these

i) A and B study Philosophy and

Sociology

ii) B and C study Philosophy and History

iii) A and D study Psychology and

Sociology

iv) B and E study Geography and Political

Science

v) D and E study Sociology and History

8. Who among the students studies
maximum number of subjects ?
(1) A (2) B
(3) D (4) E

9. Who among the students studies
minimum number of subjects ?
(1) E (2) D
(3) C (4) A

10. Who among the students studies only
four subjects ?
(1) A (2) C

(3) D (4) E

11. If the first and third letters in the word

‘CONTRIBUTION’ are interchanged and

also the second and fourth letters, the fifth

and seventh letters and so on, then which

of the following would be 7th letter from

left ?

(1) U (2) R

(3) I (4) B
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������� 12 ���&�14 #��$�1������
��� 5Z��!*��$� 5��O��
��	�$�1��*
%�(����������
�8��
��8�5Z����#�<���0�$�<�'
%�#�<�
�0�$�5Z���3��!*�$��8�,�����
 ��M
�����������
���	����
�
 2���$�&���������'
��%

12. – abba – b – aab – aab –

(1) ababb

(2) aaabb

(3) bbabb

(4) aabbb

13. a – bc – a – bcda – ccd – bcd –

(1) adbbad

(2) bdbcba

(3) adabcd

(4) daabbc

14. p – qr – p – qrsp – rrs – qrs –

(1) psqrps

(2) prqsqq

(3) psqqps

(4) pqssqs

15. �-8�����	
����$��8	
� 8 ��%��-%
�����+��#8�
�<
�����D

3 ��%� �-�����. 5#��5����
��+��#8�
�<
�����D
 12 ��%��-.
����%������$�O��
�������
�-8���9�E����,�����8��-?�
�2�
�8�*
���&	���
�S

(1) 5 ��%��-%�#�	
����	�����$�&

(2) 4 ��%��-%�#�	
�0��D�.
����$�&

(3) 5 ��%��-%�#�	
�0��D�.
����$�&

(4) 4 ��%��-%�#�	
����	
����$�&

Questions 12 to 14 are based letter series.
In each question  some letters are missing.
Find the missing letter in the proper
sequence from the four alternatives given.

12. – abba – b – aab – aab –

(1) ababb

(2) aaabb

(3) bbabb

(4) aabbb

13. a – bc – a – bcda – ccd – bcd –

(1) adbbad

(2) bdbcba

(3) adabcd

(4) daabbc

14. p – qr – p – qrsp – rrs – qrs –

(1) psqrps

(2) prqsqq

(3) psqqps

(4) pqssqs

15. Neelima travels 8 km south, turns right
and walks 3 km. She then turns right
and walks 12 km. How many
kilometers is Neelima away from the
place of her starting point ?

(1) 5 km in the North-East direction

(2) 4 km in the North-West direction

(3) 5 km in the North-West direction

(4) 4 km in  the North-East direction
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16. 1991�#�>�� 3 #�����
��$B�&
1992 ���M
�  23 K�����# ��$�
��	�� ?
(1) ]�$.��
�
(2) �#1�$��
�
(3) ���^��
�
(4) >�_���
�

 17-18 ��-�������3�&�ρ  ���

‘+’���$��; ≠  ���
  ‘–’��$��; # ���

‘÷ ’��$�� ; φ  ���
 ‘×’ ��$���̀  β  ���

‘=’ ��$��� 2��E�	����#B�&

17. 52 ��
��������


(1) 9ρ 4 ≠ 18 # 6φ 3

(2) 9 ≠ 4ρ 18φ 6 # 3

(3) 9 # 4 ≠ 18ρ 6φ 3

(4) 9φ 4ρ 18≠ 6 # 3

18. ����������
���	��#$�&����
�$A�
�
�K�
�S
(1) 9β 5ρ 7 ≠ 6 φ 2 # 4

(2) 9ρ 5β 7φ6 ≠ 2 # 4

(3) 6φ 3 # 9 ≠ 4ρ 13β 11

(4) 6 # 3 ≠ 9 ρ4φ 13β 45

19-21������3�&���8���$��3���
5��O��
�&� �T�����&��$�
<�'
%�(���O��

�(?) 5�$�3�E��
�
$�<�'
. ��8���
� 2���$�&������
���$�$��
�����'
��%

19.   4 3

7

7 1

48

5 3

(?)

(1) 8 (2) 16

(3) 30 (4) 32

16. If 3rd November 1991 is Thursday,
what day is 1992 March 23 ?

(1) Sunday

(2) Friday

(3) Tuesday

(4) Wednesday

In Questions 17 and 18  if ρ  means ‘+’;
≠  means ‘–’;  # means  ‘ ÷ ’  ;

φ  means ‘× ’; β  means ‘=’ then,

17. 52 can be written as

(1) 9ρ 4 ≠ 18 # 6φ 3

(2) 9 ≠ 4ρ 18φ 6 # 3

(3) 9 # 4 ≠ 18ρ 6φ 3

(4) 9φ 4ρ 18≠ 6 # 3

18. Which of the following is not correct ?

(1) 9β 5ρ 7 ≠ 6 φ 2 # 4

(2) 9ρ 5β 7φ 6 ≠ 2 # 4

(3) 6φ 3 # 9 ≠ 4ρ 13β 11

(4) 6 # 3 ≠ 9 ρ4φ 13β 45

In Questions 19 to 21 the numerals are

given on the basis of some rule and one

space is marked by (?). Find the correct

answer from the four alternatives.

19.  4 3

7

7 1

48

5 3

(?)

(1) 8 (2) 16

(3) 30 (4) 32
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20.  9 7

14

5 11

?

6 8

12

(1) 22

(2) 16

(3) 11

(4) 10

21.
11

28 4

7

53 5

4

67 ?

(1) 3

(2) 4

(3) 5

(4) 6

������� 22-23 : (��� ��2>��=
5��
��
� �'��#��3�&�����
�0$�=���5#a
������$�1�#��3�&
0M��0$�=���02��%�5#��+�M��'�
#��3�&�#$8?
���.��02��$��+�
(���#8�E��1�  64 ��.�$���2>��
3�	����.�M�%

22. (���#�
�����.��A�
��,�
��2>�����'
�S

(1) 2 (2) 4

(3) 8 (4) 16

23. �'��#������,�����.��1
�,����2>�����'
�S

(1) 12

(2) 16

(3) 20

(4) 24

20. 9 7

14

5 11

?

6 8

12

(1) 22

(2) 16

(3) 11

(4) 10

21.
11

28 4

7

53 5

4

67 ?

(1) 3

(2) 4

(3) 5

(4) 6

Questions 22 and 23 : A cube is painted

red on two adjascent faces and green on

the opposite face to red faces and violet on

the remaining two faces. It is then cut into

64 smaller cubes of equal size.

22. How many cubes have no face
painted ?

(1) 2 (2) 4

(3) 8 (4) 16

23. How many cubes have two faces
painted ?

(1) 12

(2) 16

(3) 20

(4) 24
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24. ����� �����
���	���5Z�
��3�5�b#
�$�#�	��
3�	�$��+��P�Z
*.�$��8
,��
��8�����%

(A) hsiplo (B) yrteop

(C) emlbopr (D) psicshy

(1) DCBA

(2) DBAC

(3) DBCA

(4) BADC

25. ��=�#-<�&������ 6 ��%�-%����	�<

 U��M���+��#8�
�<
�����D

��8��2��� U��M�%�5�������+�
#��	�<
�����D
�9��#���)��
 U��M� �2�
��=� 9�<�� �2��
 U��	���%�5# ����9��
�<�
����D
��74  ��%��-%� U��M�E��
��=� (�J- �&��
�%��B�&
��=�#-<�&����
�(�J- ��8	�1
K?#�����.D��2����,��S

(1) 82 ��%��-%

(2) 80 ��%��-%

(3) 81��%��-%

(4) 86 ��%��-%

26.  X, Y, Z ��-��2�
�)3����(��
��2#�&���&	���%�  X ��� Y	��
9�$�&�6 �0��� Y a�� Z ����9�$�&
9 �0������&	����.  Z �������&
4 �0���� X ���0���&� 23 �0���
��&	����'B�&�)���2#�&
��&	��#�����K?#�����.D
�G���,��S

(1) 41

(2) 43

(3) 45

(4) 47

24. Rearrange the following letters into
meaningful words and then make
them as in the order present in a
dictionary.

(A) hsiplo (B) yrteop

(C) emlbopr (D) psicshy

(1) DCBA

(2) DBAC

(3) DBCA

(4) BADC

25. I went to South 6 km from my house,
turned to right and travelled equal
distance then I turned towards North
and travelled twice the distance, I
have covered so far. Finally I turned
to left and travelled 74 Km to reach
my office. What is the shortest
distance from my house to the office ?

(1) 82 km

(2) 80 km

(3) 81 km

(4) 86 km

26. Three persons X, Y, Z are standing
in a queue. There are 6 persons
between X and Y and nine persons
between Y and Z. If there are four
persons ahead of Z and 23 persons
behind X, what would be the
minimum number of persons in the
queue ?

(1) 41

(2) 43

(3) 45

(4) 47
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27. #�<��0�$�0�����'
��%

PSW, XAE, FIM, __

(1) NRU

(2) NQU

(3) OQU

(4) ORU

28. ����� �����
���	��#$�&
K��*
�(?) ��c
��=�O��
�
#���%

EJVQ, PUKF, GLTO, (?)

(1) JOQK

(2) SXHB

(3) HMSM

(4) KPPK

29. (����+*����8� 
���,�
�&
��*�M���	�������3��8	����
	�$��+��(����d��������%�����
�����
���	����&�K��$�
��	����d���3����O����S

      

      (1) (2)

     

     (3) (4)

27. Find the missing term.

PSW, XAE, FIM, ___

(1) NRU

(2) NQU

(3) OQU

(4) ORU

28. Which of the following will come in

the position of (?)

EJVQ, PUKF, GLTO, (?)

(1) JOQK

(2) SXHB

(3) HMSM

(4) KPPK

29. A piece of paper is folded along the

directions and punched as shown in

the picture. Which of the following will

be the pattern of punched holes ?

      

      (1) (2)

     

     (3) (4)
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30. JT  :        �B�&

   EP : ––––

(1)

(2)

(3)

(4)

 ����������
���	���������3�&
(31-32) �����	��� �L�P�$���$�
 �����1� �L�P�� �
� 2���3�&
����������D��	��%

31. Artist : Theatre : : ?

(1) School : Teacher

(2) Farmer : Field

(3) Doctor : Patient

(4) Grocer : Vegetable

32. DGSK : AJPN : : ?

(1) RNJD : OQGG

(2) MBTJ : JESG

(3) OAFQ : LDHS

(4) PLFO : MODN

33. 180 m �-3��1 X ����,�$��
58 kmph� �#I�$�&�(����	�'���
	��120m��-3��1� Y����,�$���
���(�#���	����e������$� 64
kmph� �#I�$�&�(�����%� X ��
�,�$��� Y����,�$������(�#�
��	� ��e����,�� �$����	���S

(1) 240 s

(2) 200 s

(3) 180 s

(4) 160 s

30. If JT  :

  EP : ––––

(1)   E

(2)

(3)

(4)

Questions 31 and 32 : In the following
questions select the similar pair from the
alternatives as related to that given in the
question.

31. Artist : Theatre : : ?

(1) School : Teacher

(2) Farmer : Field

(3) Doctor : Patient

(4) Grocer : Vegetable

32. DGSK : AJPN : : ?

(1) RNJD : OQGG

(2) MBTJ : JESG

(3) OAFQ : LDHS

(4) PLFO : MODN

33. A train X, 180 m long is running at a
speed of 64 kmph to overtake another
train Y of 120 m length running at a
speed of 58 kmph. What will be the
time taken by X to overtake Y ?

(1) 240 s

(2) 200 s

(3) 180 s

(4) 160 s
J T

E

E

P

EP

P

P

J T

E

E

P

EP

P

P

E
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34. (���#8�E
�8�1� 216 ��.�$
 �����	<����0�$�I�M
�(��
#8�$� �����	<��'�	���%
PQ ���#�
�82���#���G��#��
BC ���#���#��$�� RS ��
#�
�82���#���G��#���AD ��
#��#��$����
����'
� ��.�
	���%��
�$�&���.�	�E��

�,�� ��.�$� �����	<��
�'�����S

Q

D C

S

B

P

A
R

(1) 184 (2) 172

(3) 160 (4) 150

������� 35-36
�	������ :  �����	�����,�
�&
C ���,�����*��0�<�����$��/�A ���
�-�f�������F
	���$��/� B ��
+P
@�L��5_��0���$��� D �������
@�L���P�g�����$��� 2��E�	���%

A

C

B

D

6

7
8 9

5

35. P�� 
���,�����e���)��)�
�S
(1) 2

(2) 4

(3) 5

(4) 6

34. 216 smaller identical cubes are put
together to form a large cube. A knife
is passed through one side PQ to the
diagonally opposite edge BC. Then
the knife is again passed through the
side RS to the diagonally opposite
edge AD. How many of the smaller
cubes are not cut by the knife at all ?

Q

D C

S

B

P

A
R

(1) 184 (2) 172

(3) 160 (4) 150

Direction Questions 35 and 36 : In the
diagram triangle C represent musicians,
rectangle A represents dancers, hexagon
B represents teachers and quadrilateral D
represents doctors.

A

C

B

D

6

7
8 9

5

35. Who is the dancer only ?

(1) 2

(2) 4

(3) 5

(4) 6
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36. 5_��0��$��� �P�g.���$�0�<�
����A�
�)�

(1) 7

(2) 8

(3) 4

(4) 2

37. (�����2>��=�6�#��3�8���#���H
�3�$�02	��0��M���	�����=
�F���������������
���	���%
��AE2#��=�����#�
��#���
02#
�K�
�S

(1)  2����R�

(2) P�JP�& 


(3) ����

(4) 8�A�

�.
� 

��A

8�A�

P�JP�

��& 


8�A�

P�JP�

��& 


����
����

�.� 

��A

 
2�
�

�
�R
�

 
2�
�

�
�R
�

36. One who act as teacher, doctor and

not a musician is

(1) 7

(2) 8

(3) 4

(4) 2

37. Different appearances of a cube

whose six faces are fixed with flowers

of different types are shown below

which flower is opposite to Jasmine ?

Jasmine

Lilly Rose

Daffodils

Lilly

S
un

flo
w

er

Daffodils

Sunflower

Lotus

Rose

Lotus

(1) Sunflower

(2) Daffodils

(3) Lotus

(4) Lilly
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38. (�����B��8a
���.����	���(��
��0E��
�10 ����?�&�400 L ��.
a�������?������0E��
�15 ����?�&
600 L��.a��������$��%�9:��'�
��0E��3��� (���  �$�� ��.
������&�8000 L �#1����.a��
�,������?�����#*��S

(1) 150

(2) 120

(3) 110

(4) 100

39. ����� �����	��� ��8�� �20
�3�&�K����*
���#���	���

���	��� �20
��=�#�1&
���
���#��%

      (1) (2)

     (3) (4)

38. A pipe open to a tank can fill 400 L in

10 minutes and another pipe can fill

600 L in 15 minutes. In how many

minutes a tank of 8000 L can be filled,

if both the pipes are opened

simultaneously ?

(1) 150

(2) 120

(3) 110

(4) 100

39. Which one of the following four
figures can fill the gap of the given
figure.

      (1) (2)

     (3) (4)
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40. #�<��0�$�@�I
��
�5���$�L����$
��,��������	�����8���
�� 2��
��3�&�����������D��	��%

+ +

+

____

+ +

      (1) (2)

+

+

     (3) (4)

������� 41-42 – ���������c
��=
9���#�
�1��'���20����h�8�1
>i����W�8�	�$������+�
�������c
����0����9���>i�
0�8�	����20���
� 2���3�&
��������'
��%

41. X Z  : 
X

 : : W

V

 : ?

WV W
V

      (1) (2)

W V M V

     (3) (4)

40. Choose the suitable picture for the
blank space from the four alternatives.

+ +

+

____

+ +

      (1) (2)

+

+

     (3) (4)

Questions 41 and 42 : Understand the
relationship between the two figures in the
left of the symbol : : and find out the figure
from the alternatives that would come in the
place of question mark ‘?’ which follows the
same relation.

41.  X Z  : 
X

 : : W

V

 : ?

WV W
V

      (1) (2)

W V M V

     (3) (4)
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42.  : : 
S (?)

  
S

   
S

      (1) (2)

 
S

   
S

     (3) (4)

43. 1, 2, 3, 4 ��-���,��3�&����
�X
���,0�j��,���90°��V�	
�����$�
����
��������$�&�����M�&�8@�
	����20����'
��%

                 
+

+
  +

      (1) (2)

+
+

     (3) (4)

44. (���,0��������P�@�+$�&�‘men are
working hard’�����
� ‘qua cin gyn num’
����/�‘men will not suffer’������
�‘nin
fin mun qua’ �����‘women will be silent’
�����
� ‘din qun kin fin’ ����/ ‘girls
are not working’������
�‘nin gyn num
bin’ �����*
%��B�& ‘girls will not
silent’ ����
��������
%
(1) gyn cin mun qua (2) qun fin bin nin
(3) gyn din qun fin (4) fin cin din bin

42.  : : 
S (?)

  
S

   
S

      (1) (2)

 
S

   
S

     (3) (4)

43. Findout the figure from 1, 2, 3 and 4
when problem figure X is rotated
through 90° anticlockwise.

                       
+

+
  +

      (1) (2)

+
+

     (3) (4)

44. In a certain code language ‘qua cin gyn
num’ means ‘men are working hard’,
‘nin fin mun qua’ means ‘men will not
suffer’, ‘din qun kin fin’ means ‘women
will be silent’ and ‘nin gyn num bin’
means ‘grils are not working’. Then
‘girls will not silent’ can be written as

(1) gyn cin mun qua

(2) qun fin bin nin

(3) gyn din qun fin

(4) fin cin din bin

XxX

XxX
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45. )����,��
���	�$�&�K��

�-��$�&���*�E����S

           

     

      (A) (B)

   

     (C) (D)

(1) A $�� B-$�����,��

(2) B $�� D-$�����,��

(3) B $�� C-$�����,��

(4) A $�� D-$�����,��

45. If we fold the first figure which will

be appeared as

           

     

      (A) (B)

   

     (C) (D)

(1) A and B only

(2) B and D only

(3) B and C only

(4) A and D only
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 ����������	������P
��0�$�I�M


 46-47 #��$�1��������	
��
��

��'
��%

 A + B ���& A ,B $����5k��*


 A – B ���& A, B $������3�*


 A ÷  B ���& A, B $���� �Y�����*


 A ≠ B ���& A, B $��������*


 A = B ���& A, B $����5h$�*


 A ×  B ���& A, B $���� �Y����$�*
%

46.  ‘C, D $������.���3�*
�’ ��

>i�
	�.�	�����
�S

(1) C ÷  A – B – D

(2) C ×  A ≠  B – D

(3) D = A ×  B – C

(4) A – B ×  C + D

47.  ‘P, Q �=�5h�#�$�*
 ’ ��

>i�
	�.�	�����
�?

(1) Q – N ×  O = P

(2) P – N ×  O + Q

(3) P = N = O – Q

(4) P – N + O = Q

Find the answers for Questions 46 and 47

using the following code.

A + B means A is the father of B

A – B means A is the daughter of B

A ÷B means A is the brother of B

A ≠ B means A is the son of B

A = B means A is the mother of B

A ×  B means A is the sister of B

46. Which of the following means ‘C is

the granddaughter of D’ ?

(1) C ÷A – B – D

(2) C ×  A ≠  B – D

(3) D = A ×  B – C

(4) A – B ×  C + D

47. Which of the following means P is the

mother-in-law of Q ?

(1) Q – N ×  O = P

(2) P – N ×  O + Q

(3) P = N = O – Q

(4) P – N + O = Q
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������ 48-49 : 8�>��$�������
�
��	��� ��T$���� 9���#�
�1
��,�
��=��G���$��8� ,0��>��>�
����
����	�����8����,��3�&
�������'��0���	��%

50. ����������	�����,���3
(���,0�#������,����0�$�I�M

 ����I�*�3�&��2�
�#��E�
�3�$�� ,��-���M������+�
�����	����
��3�&������
�����
�������D��	��%

  

(1) a, f, g; b, d, i; c, e, h

(2) a, e, i; c, f, d; b, g, h

(3) a, d, h; b, f, g; c, e, i

(4) a, e, i; b, c, g; d, f, h

Questions 48 and 49 : There is a figure to
the left of the vertical line and its mirror
image is given as one of the four figures .
Find the one which is the exact mirror image
of the figure given to the left of the vertical
line.

48.

49.

50. Group the figures given below based

on identical characteristics into three

classes using each figure only once

and choose the correct option given.

(1) a, f, g; b, d, i; c, e, h

(2) a, e, i; c, f, d; b, g, h

(3) a, d, h; b, f, g; c, e, i

(4) a, e, i; b, c, g; d, f, h

1 2 3 4

%

?

% % %

?

%

1 2 3 4
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51. ��3�$������$
���#���$��
�#3$�&

��.������
�	�#��8��	
�8$�3���l

m�9#�����#�� 2��E�	��
O�0����
�S
(1) �8$�3� �#�8���8
(2) ���3� �Y����5	����
(3) ���3��8��n8�
(4) ���3�@�+��9�;���2<


52. o��B����0����p������8��K��
�8$���$��>i�E<���	����S
(1) ��1&
(2) �������2


(3) �q�3�
(4) 5r0��

53.  ��0�$�����0���0����M��
����

(1)  �
�s��0�$�
(2)  �
�s��0�$�
(3)  ��s��0�$�
(4)  ���s��0�$�

54. o�3�����p�)<	q$���
��
�#��
�S

(1) 9�$�h�����

(2) �G�$�#����

(3) ��-,t��������

(4) ���<$
��������

55. o�e��$�����q�����p���.�$
�E�������#8�;
�)�
�S

(1) ��%�����t�

(2) (%�#�%�#�L$�

(3) 0��
�&���Du�1

(4) ��%�0�
���@�

56. o �#�,��p�����q�0�,��
����������=�K����F��$�8�
*�1�
�S

(1) ���#O

(2) ���*

(3) ,0������

(4) �n�8@�Z���

57. (��
�	���8f��d�
�#��

�#������Y��A

(��
����Y����$�E.#����
@�#��A%

m�)�����#�����S

(1) ����������

(2) �12�

(3) ��U�������

(4) 0�%�@�v��

58. 5_��0�������$�-$��$�L-#���
#O��q�#�+$��	�$���
�S

(1) �������#�B�E�1

(2) ���2���-8�*
X0�1

(3) �L� J
���'�w��

(4) 0�%����#��#


59. ��#��������
���	��#$�&
#����*0���$�� ���$A�

#������
�S

(1) 9�������E?��#�����E
�����A

(2) #�I
������0�8�	�E��.�A

(3) L���	
�)#����A�
#
�,R����� ��
f����� ��e�E
��.�A

(4) ���R3�)��8���5��,IY�
	�E��������A

Language Test
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60. 0<����	����8����	����-
0<����	����.�$���������$�&

m�)��	�.�M�*
�I�i����9,0
�����0.$���
�S
(1) ������_���	�.�M

(2) ��w� ���	�.�M

(3) 5@�����#���	�.�M

(4) @I�
��	�.�M


61. o��h-�p�����8M�,���)����
�F���$�5��O����	�$�*

�����	�E<�
�S
(1) ��%���%�#� ���#����$�
(2) �.2>

(3) �������#�B�E�1
(4) 0�%�@�v��

62. ��<��F+
*������	
���,t
 �Y����5	�����5#��P

�����	���
��F���S
(1) �8�L-#�������
(2) �8$�3����8�
(3)  �Y����#���
(4) @����0�����

63. ���+��  �_��*��$� (��
,0�������,����)�5i�#F"�

0?��E�$�<�1�%� o,0����p���
#�	��=�5�b��S
(1) ��?

(2) ,0 �"��$
(3) ��,0 �"��$
(4) #8�$

64. 5�d�Z���#
����&
(1) 5�d�
��Z�	��#�
(2) 5�d#����Z���#��
(3) 5�d
�&��Z�	�E���$��
(4) �Z���#�$�5�d�

65. �8$�3� ����a
�)����$�
��,r0��$�����L���8������
�	���
��-8	�$�8��=� �#�
_�$���&� (��3�$� 9��Y�
�8$�3
��8� ,0 �"��$
�#�$���*
%�)��*
�5��Y��S

(1) 0�%�@�v��

(2) (%���%�#�%���.�E


(3) �.2>


(4) #$8������#�h

66. �8$�3
��8�9:�,0 �"��q�
�F

���?�����0��&�9�C-+�&
�#����3����� �8��� ,0 �"
$�$�

(1) �.� 
����

(2) #�L$8Zx�

(3) 5���
_����.�$


(4) ��_#�	�<�

67. #�%#�%�5eE�����,0 �"
���#8�;��=��28�������K�
�S

(1) ��	����

(2) �.2>


(3) ���#�8�

(4) 0�.E�.



68. oo�?�1�@�+�����#8��_�,�����

��
�����0?h����@�+����pp

m�9:�#����������$���
�S

(1) #1�
��

(2) ����������

(3) �12�

(4)  M����t�

Language Test
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69. �2<
�&�����
�
�K�
�S

(1) L8L�

(2) L8��

(3) 0�
��

(4)  ���L�

70. ��3����<
�������8�$���
5�b�

(1) ,0 �"�������

(2) )��@�

(3) �3�$�	��

(4) 5# ���	��

71. �q�3�$�&��y������0�$�I�
	����R���*
�S

(1) ���A�$�������


(2) 93��$�������


(3) �q�����	��5#���E�
	�����


(4) ������<
��


72. ���$�$�0����
�S

(1) #���H�

(2) #���O�

(3) �#��H��

(4) #��� 
_�

73. �����	���
���	��#$�&
�2<
�&�����
�
�K�
�S

(1) ��+����������

(2) 5k������3��

(3) �I
�8��.�$�

(4) ��,��$�I�

74. I��#���0��#���9��8��
��#���K�
�S

(1) �*�,0#�3�

(2) 0��

(3) ���

(4) I�q

75. oL�����#
�p����0�
��=

5�b�

(1) @���$����5h

(2) @�
�#��=�5h

(3) ����#��=�����#


(4) ��3����@�
�#


76. ��#��������
���	���0<��
 �Y����,0O���3����5��O�

�
�&� ,��-���M
� ���$�$�


����
�����%

(1) �0����M�.
 (A) ���#&

(2) ���?�A (B) �����

(3) �<�� (C) ��.��q

(4) �G-��������#�� (D) )z�q

(1) 1 – C (2) 1 – B

2 – B 2 – C

3 – A 3 – D

4 – D 4 – A

(3) 1 – D (4) 1 – A

2 – A 2 – B

3 – B 3 – C

4 – C 4 – D

Language Test
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77. �0�$�������02�G,��$$�$�

#����
�K���#���
�&�S

(1) �0�$��E�$��5#���#��
�
��������

(2) 0?��E�$�������(���(��#�
���#����,���A�S

(3) 5#���A�����.���0.D�
�0�$�

(4) �#1�E�	���A������'�
�0�$�

78. ���$�$�0����
�S

(1) 5�R�#�

(2) 5�R��#�

(3) 5��R�#�

(4) 5�t�#�

79. oo��'��I�*��S�����#�������
�������,��m

��&0
�$���#��#�������'�
){������&	R��L���3���	��
�0?h�@2��#�`�0���#�����#�pp
m�������
�f�+�M��#�$��
�S

(1) ����������

(2) #1�
��

(3) �12�

(4) �����

80.  ��2Y���0��+
	�*��8Z��
#M
�#�%��%� @<����E��
������$
������K�
�S

(1) 5��	3$�&����

5���
	


(2) 0�<>�	�

(3) �I�,�$���

(4) �G-��������#��

��#��������
���	���I��@�I�

#�$�M
�81����&�84�#��$�1������

�3�����
���������%

�q�T�������8�� d-���M����'


���,��
� 0��| Fr�	��$�*


���,�� ���#8�;
%�0}�
8��$�

��'
������,�� ����3�)T��

�
��������#�_
�&/���8f��

a�1�&����
�/� ,��-����	��$�*

$��%�5#����5��#�����$�
-���

��
�� ����	8���3����,��


5E������?���.�	���1�#�,I�$�$�

#��T����M���2��%����,�
������$�

#���� K������  �@#��3$��

���,�
��=�02���3�$�� ���	�

	�*����8�*
����,�� ���#8�

 d����7����3�$���
%����,����#

8�;���3����,�#�~����3�$�

��*��� ,0#*�$�8�*
� 0��#
%

$q��b����,��
�5.�$���1

���,�����=����-Z*���#@##��

�8� Fr�� ��
���,IY�	��

�8�����=� :t���#-Z*#��

������ Fr�	��� �Y�����8� [

��*
����,�����#&%�9#�������,�

��������8��������5#�#����

��$� ������ ��'��� #���%

9
���#���� ����*�������,�

���#8�;����#�����	����&

5�q��A%

Language Test
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81. ���,�����#8�;
���e����R
�S

(1) ���,��
����#8�	���
(2) ���,��
�0��| Fr�	���
(3) ���,�
��=�)T����
���#Y�	���

(4) ���,��
���?���.�	���

82. ���,�����#8�;
����,��

�������*����S
(1) 0}�
8��	�
(2) �q�#H�#�	�
(3) �q�0�,��3�$�
(4) �8���8[��$�

83. ���,�
����5����$�� ����
#����  �@#��3� ����
��*����S

(1) ��
�������	'#$�$�

(2) ���,�
��=�02���3�$�

(3) ��0Z�	��#$�$�

(4)  dR�����$�$�

84. #���������*�����0����
��R
�S

(1) ���,������5.�$�
��*

���#8�;
��������


(2) ���,�����������,�����#
8�;���5#�#�����#��	

�������5#���E�	���

(3) ���,�����
����-Z*
��#@#��'


(4) ���$�$�
���*���A

85. 02�������0�
��=�5�q�

(1) 02��E�	�
�


(2) 02��E�	���


(3) 02��E��	'�


(4) 02�����	���


86. ���$�$�0���K�
�S

(1) ��M��� (2) ���
����

(3) ��}��� (4) �}���

87. ��8,����0��I*�M
�,��-
���	��%

(A) �'���2��

(B) 9t��8T

(C) ���
�n#��

(D) (��� B-�
����0��8

(1) B – C – A – D

(2) C – A – B – D

(3) C – A – D – B

(4) A – C – B – D

88. #�3	�����#���1#�����

#��d���-0�$��m�)������*
�9:
#�����S

(1) (%���%�#�%���.�E


(2) #$8������#�h

(3) �����

(4) �12��� 
%�0����d�e�

89. ��h��<�������#���$�
>i�E<��8��20���
�S

(1) ��e� (2) ��.

(3) 0�$*� (4) ��1&

90. ��%���%�#� ���#����$�
���	q����M� �����K�
�S

(1) ��8�3�

(2) ��#��8�

(3) �0�R����

(4) )�����=�����5>�
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91. 0�%�����0��&�5.�$�E���
 �Y��������)�
�S

(1) ��%�0�%�5E�

(2) 0�%���D��������$�

(3) 0�%���%�0�.	�#


(4) 0�%�0�%�����,t�

92. (����
�#��$��8��'���

5Z�#��� �'���
�#��$��8
�'���
� 5Z�#��� (��
5Z�����#�I�Z�����#��&
0.$��� ,0� ,0�$�I
��=
�0��R
�S

(1) 5��,0� �

(2) �d��-$�Z�,0� �

(3) 5R�,0� �

(4) ��8���,0� �

93. ���$�$�#����20����'
��%

(1) ]�����#��$�����'�*

>W����<�
��������*�

(2) ]�����#��$������'�
>W����<�$�A

(3) >W����<�
��������*�
]�����#��$�����'�*


(4) >W����#��$�����'�*

���	����<�
��������*�

94. o9����
#����2{�p�9:
0�
��=����$�$�5�b��R
�S

(1) �R�����e������$��#�

(2) �R�����$Q���-�	��#�

(3) �R�����e����2<�	�
#�

(4) �R����e*���.�D�
�2��
#�

95. o�.2>
�p�����28������
�&
5.�$�E������
�S
(1) #�%� �%�>�8�F+
*�
(2) 0�% �%���<��F+
*�
(3) ��<��F+
*�����

(4) ��D�G�

96. Y� ������q�0�,�
��=
, r�#
�)�
�S
(1) 9�$�h�����
(2) ���3#�h�#8�$
���$�
�����

(3) �G�$��#����
(4) ��3��� �

97. �8$�3
��8�)����u���,��
K�
�S
(1) >�8�
(2) #�I�������
(3) �'��>M����<

(4) ��2 
��0E���>�$


98. o)<	qp�K����8$���� �Y���
�20��*
�S
(1) ��1& (2) �q�3�
(3) @������� (4) �2��$�<�

99. o9��0�����2?�'��=�9��Y� �p
)������F��$�*
�S
(1) 9��w��
(2) 5	�
�
(3) ��#�8�E�1��!-_�������
(4) L�%��B�	�.�E


100. 0����<�	#��3��8�5�	#�
��.�$�E����
�)�
�S
(1) 0������2����
(2) ����I8����2����
(3) ���0��
��#����
(4) ��.��w��
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Questions (101 to105) : Read the following
passage and answer the questions that
follow.

‘I’ve had a most amazing time...’

So begins the Time Traveller’s astonishing
first hand account of his journey 800,000
years  beyond his own era – and the story
that launched H.G. Wells’ successful career
and earned him his reputation as the father
of science fiction. With a speculative leap that
still fires the imagination, Wells sends his
brave explorer to face a future burdened with
our greatest hopes and our darkest fears. A
pull of the Time Machine’s lever propels him
to the age of a slowly dying earth. There he
discovers two bizarre races – the ethereal
Eloi and the subterranean Morlocks – who
not only symbolise the duality of human
nature, but offer a terrifying portrait of the men
of tomorrow as well.

Although it clocks in at less than 150 pages
long, H.G. Wells’ ‘The Time Machine’
published in 1895, is still one of the most
influential science fiction novels ever written.
Not only is it the first book to popularise the
notion of time travel, it is also one of the first
works to help bring the genre of Sci-Fi to
mainstream fiction fans.

This science fiction novella has since then
been adapted into two feature films of the
same name, as well as two television
versions, and a large number of comic book
adaptations. It has also indirectly inspired
many other works of fiction in many media
and will continue to enthrall readers for
generations to come.

101. H.G. Wells’ work is influential because

(1) it was published in 1895.

(2) it is the story of a Time Traveller.

(3) it is a source of inspiration for
other works.

(4) it has two television versions.

102. H.G. Wells launched his successful
career with

(1) the publication of the novella.

(2) the adaptation of the story into
two feature films.

(3) the publication of a large number
of comic book adaptations.

(4) the meeting of two bizarre races.

103. A pull of the Time Machine’s lever

(1) propels the writer to the age of a
slowly dying Earth.

(2) propels Eloi to the age of a slowly
dying Earth.

(3) propels Morlocks to the age of
slowly dying Earth.

(4) propels the brave explorer to the
age of a slowly dying Earth.

104. Pick out the word that is closer in
meaning to ‘bizarre’.

(1) contrasting

(2) familiar

(3) ordinary

(4) strange

105. ‘The Time Machine’ is considered a
science fiction novella because

(1) it was published in 1895.

(2) it is a story in not less than 150
pages.

(3) the main character is a traveller.

(4) it tells us about the future of earth.
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106. Carnivores are animals which feed on

(1) sparrows only.

(2) seed, berries and fruits.

(3) served food.

(4) meat and flesh of other animals.

107. Sparrow is listed as threatened in UK.
The word ‘threatened’  means

(1) found easily

(2) nearly endangered

(3) in the look out for

(4) of a frightening nature

108. Sparrows are largely found in

(1) places close to human settlements.

(2) places close to rural areas.

(3) places close to urban areas.

(4) forests and deserts.

109. Sparrows have adapted to the life in
human settlements because

(1) they can keep way from their main
predators.

(2) they can protect their young ones.

(3) they get constant supply of food.

(4) they primarily feed on moth and
small insects.

110. Which of the following statements is
incorrect ?

(1) Sparrows live in colonies called
flocks.

(2) Sparrows are territorial animals.

(3) Cat is one among the predator of
sparrows.

(4) Sparrows can be seen on every
continent on earth.

Questions 106 – 110 : Read the following
passage and answer the questions given
after it.

Sparrows can be seen on every continent
on Earth. This small bird originates from
North Africa, but it has been successfully
introduced to North America, Europe, Asia,
Australia and New Zealand. Sparrow,
unlike many other birds, cannot be found
in forests and deserts. It prefers life close to
human settlements, including both urban
and rural areas. Number of sparrows
decreased dramatically in the last couple
of years for unknown reasons. Three
quarters of sparrows disappeared from the
London between 1994 and 2000. Due to
the fast decline in number of sparrows, this
bird is listed as threatened in UK. Sparrow
has stout body, covered with brown, black
and white feathers. Its wings are rounded.
Males and females can be distinguished by
the feather colouration. They are very social
and live in colonies called flocks. These
birds are carnivores by nature, but they have
changed their eating habits when they
learned to live close to people. Sparrows
primarily eat moths and other small insects,
but they can also eat seed, berries and fruit.

One of the reasons why sparrows adapted
to the life in human settlements is constant
supply of food. They easily learned to eat
‘served food’ when people started to build
bird feeders. Main predators of sparrows are
dogs, cats, foxes and snakes. Young and
inexperienced birds are the main target and
easy meal for these carnivores. Sparrows
are not territorial animals, but they will
aggressively protect their nest from other
sparrows. They usually build nest under the
roofs, under bridges and in tree hollows.
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111. The following six sentences come from
a paragraph. The first and the last
sentences of a paragraph are given
below. Choose the order in which the
four sentences (P, Q, R, S) should
appear to complete the paragraph.

S1. She entered the exam hall with
a lot of confidence because
she had studied well.

S2. _______________________

S3. _______________________

S4. _______________________

S5. _______________________

S6. While leaving the exam hall
two hours later, she reflected
that appearance was
sometimes worse than reality.

P – However, when she attempted
the questions, all that she had
studied came back to her.

Q – Her hands grew cold and sweaty.

R – “This must be the Exam Memory
that psychologists talk about,”
she thought.

S – When she saw the question
paper, she felt very nervous.

(1) QRPS (2) PQRS

(3) SPRQ (4) SQPR

Questions 112 to 116 : Choose the word
which best fills the blank from the four options
given.

112. Many buildings were ________ to the
ground for widening the road.

(1) wrecked

(2) wrenched

(3) dilapidated

(4) razed

113. He is a  __________ politician who

will do anything for his own

advantage.

(1) naive

(2) guileless

(3) scheming

(4) inept

114. She was __________ after running

all the way home.

(1) gaping

(2) gushing

(3) gasping

(4) gabbing

115. A local company has agreed to _____

the school team with football shirts.

(1) contribute

(2) supply

(3) give

(4) produce

116. The boy could easily _____ himself

to the atmosphere of the new school.

(1) adept

(2) adapt

(3) adopt

(4) adamant
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Questions 117 and 121 : In the following
passage there are some blanks that are
numbered. Fill in the blanks by selecting
the most appropriate word from the given
options.

A dentist is a doctor ________ (117) takes
care of our teeth. In the past, people had
severe problems with ________ (118)
teeth. Throbbing pain, cavities, ________
(119), swelling of the gums were all due to
lack of proper brushing or oral hygiene.
Now dentists have made people aware
________ (120) the need for oral care and
hygiene. They have also brought ________
(121) relief to our pain and saved a lot of
people from suffering.

117. (1) that

(2) who

(3) which

(4) whom

118. (1) their
(2) its
(3) there
(4) our

119. (1) plaque
(2) plague
(3) plank
(4) palette

120. (1) off
(2) by
(3) of
(4) in

121. (1) immense
(2) eminence
(3) imminent
(4) eminent

Questions 122 to 124 : Select the meaning
of the given phrases/idioms.

122. In the nick of time

(1) exactly at the right moment

(2) in a moment

(3) in olden times

(4) immediately

123. To blow one’s trumpet

(1) to announce something important

(2) to celebrate

(3) to boast of one’s achievements

(4) to criticise someone

124. A white elephant

(1) a strange possession

(2) an unique possession

(3) a proud possession

(4) an useless possession

Questions 125 and 126 : Identify the part
in the following sentences that is incorrect.

125. All the water / has flown in/

(1) (2)

through the/ hole at the bottom.

(3) (4)

126. The shopkeeper told us / that the prizes/

(1) (2)

wil l be exhibited/ the next day.

(3) (4)
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Questions 127 and 128 : Select the word
which means the opposite of the given
word.

127. Obstinate

(1) gullible (2) obstruct

(3) obdurate (4) yielding

128. Extravagant

(1) spendthrift (2) superfluous

(3) parsimonious (4) overgenerous

Questions 129 to 131 : Choose the most
appropriate phrasal verbs to complete the
sentences.

129. We have to work really hard and
______________ for a good cause.

(1) pull up (2) pull together

(3) pull through (4) pull over

130. He  ____ his father-in-law when his
business failed.

(1) fell through (2) fell back on

(3) fell out with (4) fell off

131. The authorities __________ tents to
accommodate the refugees.

(1) put on (2) put up with

(3) put across (4) put up

Questions 132 to 144 : Choose the best
answer from the options given.

132. She was overjoyed__________the
prospect of meeting him again.

(1) at (2) from

(3) for (4) with

133. Let us go for a walk, ____________ ?

(1) will we ? (2) shall we ?

(3) won’t we ? (4) aren’t we ?

134. I _________ I _________ the answer
now.

(1) wished – would know

(2) wish – know

(3) wish – knew

(4) wished – will know

135. If I committed a mistake, I_________ it.

(1) will correct

(2) would correct

(3) will have corrected

(4) would have corrected

136. “Can you give me a hand ? “ The
speaker wants _________

(1) help (2) praise

(3) money (4) hand

137. You’d already left by seven o’clock,
_________ you ?

(1) didn’t (2) weren’t

(3) hadn’t (4) haven’t

138. The client is _________  buying a new
house.

(1) interesting to (2) interested in

(3) interest for (4) interesting on

139. The more you practice speaking
English, _________  it becomes.

(1) easy (2) the easiest

(3) easier (4) the easier

Language Test



M-2     P.T.O.

Class – X MAT

-29-

140. After a break, the class resumed. The
underlined word means _________ .

(1) continued (2) returned

(3) repeated (4) receded

141. While we _________ our dinner, the
fire alarm rang.

(1) were having (2) had

(3) have had (4) was having

142. “Ajay will regret his decision sooner
or later.” The speaker means Ajay
_________

(1) might make a decision soon.

(2) could be happier later.

(3) is definitely going to be sorry.
(4) will not take decisions.

143. Kerala is a diverse and beautiful state
with many places worthwhile to see.
Replace the underlined phrase with
any one of the phrases given below.

(1) worth sight

(2) worth seeing
(3) worthwhile scene

(4) worthy seeing

144. The lecturer went _________ to
explain the most important points in
the lesson.
(1) off (2) about

(3) from (4) on

Questions 145 and 146 : Identify the word
correctly spelt from the options given.

145. (1) Maintainance

(2) Meintainance

(3) Maintenance

(4) Maintanance

146. (1) Successful

(2) Sucessful

(3) Succesful

(4) Successfull

Questions 147 to 150 : Fill in the blanks
that are numbered suitably.

The weather office had predicted that it
would rain ____________ (147). Their
predictions are usually accurate.
____________ (148), it did not rain for
several days. When ____________ (149)
the rain did come, it was insufficient
____________ (150) the crops were
damaged.

147. (1) frequently

(2) much

(3) soon

(4) well

148. (1) However

(2) But

(3) Though

(4) Instead

149. (1) definitely

(2) in the end

(3) at last

(4) lastly

150. (1) and

(2) also

(3) even

(4) that
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